Lines in a Coordinate Plane Test Review

Name Date

Period

Write an equation of a line with the given
slope and y~intercept.
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Find the x- and y- intercept of the line.
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Graph the equation.
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Graph the equation.
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Write an equation for the line through the
given point with the given slope.
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Name Date Period

7. Find the slope of the given line.

- Given the following points and équations,
m=_73 are the graphs of the lines parallel,
I ~ perpendicular or neither? Explain.
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) - 11. Determine whether WX and YZ are
‘ parallel, perpendicular, or nei_ther
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a. Write an equation for the hne in point-
slope form, Of% " - ¥z "E {wtg
b. Rewrite the equation in standard form

using integers. m%
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M Write the equation of a line that is
3 _ perpendicular to the given line and that
passes through the given point.
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Name Date Period
Graph 16. Write and graph an equation in point:
; 1 slope form, y—y, = m(x —x;), of the line
4 y=oxt3 through points (4, -4) and (1, 2) Use (4, -4)
A as the point (xy, 7).
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15. Write and graph an equation in point-
Sk.)pe of the line through point A-5, 6) 17. What must be true about the slopes of
with slgpe -4 Ty . . . s
T two perpendicular lines, neither of which is
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“ - The slopes have product 1.
\ 1 - The slopes have product 1.
¢ 5 One of the slopes must be 0.
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& : 18. Line p contains points A(-1, 4) and
B(3,-3). Line g is parallel to line p. Line # is
s perpendicular to line ¢. What is the slope of
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